" e ==> R10
10 2019 < 3 > RRERE il == 10
A
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
1 NS: 55t MRESHGEO) -19 11 NS: BRI BEER (BAC) -1 VP:| 6.28 13.72| Total VP: 102.83 Rank:
EW: 13{EEE BREEHC) 1 EW: S50 22§53k (FFO) 19 IMP:| 24 37 6
—_ —
# 15 # K965 6HS7 1460 Mean: 7HS7 2210 13.0 1 |[|# 16 » KQJ9 3NN-1-50 Mean: 2NN2 120 40 1
v A97 4HS6 680 1390 6NS7 1470 20 1 v J86 3NS-1-50 -20 2CN4 130 40 1
¢ AB65 Dif: 780 NS:2 6HS7 1460 20 6 + Q76 Dif: 0 NS:-1 3NS-1 50 1.0 1
» J8 IMP: 13 EW:12 6HS6 1430 10 2 » AQ4 IMP: 0 EW:1 3NN-1 50 1.0 9
4 JT3 4 Q8742 4HS7 710 120 1 ||a 64 & T852
v Q5 | v T64 4HS6 680 120 1 ||v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 » 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 v A93
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 a T9843 5CXE6 -650 Mean: 3HXS3 530 130 1 ||# 18 » 865 3DW5-150 Mean: 5DW-1 50 80 1
v QT54 4SXS-1-100 -330  5DXE-1 100 100 1 v AJ4 4SE5 -450 -290 2DW3 110 50 1
¢ K74 Dif: -550 NS:-8 4SXS-1 100 6.0 1 ¢ 764 Dif: 300 NS:4 3DW5 150 4.0 2
a3 IMP: -11 EW:-6 4CW5 150 50 1 & KT72 IMP: 7 EW:4 3DW4 130 4.0 1
a7 & Q52 3HXS-2  -300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 2420 3.0 1 ||leK I v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 80 1 |[|as A » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POVEN L, 43
N ~~13~ o AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 3SW-3300 Mean: 5DXXS5 800 11.0 1 ||# 20 s JT8 4HE4 -620 Mean: 4HE-1 100 90 5
v AJ43 3DS5150 280 5DXS5 550 7.0 1 v 9 4HE4 -620 -270 2DW4 130 4.0 1
o T7654 Dif: 150 NS:1  5DS5 400 30 2 + QT Dif: 0 NS:-8 4HW4 620 -80 1
» KT4 IMP: 4 EW:4 5HE-3 300 10 1 » QJ98653 IMP: 0 EW:8 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 _I_ v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 * KJ72
» AQJ95 & 732 28S-2 <100 9.0 1 & AT a» 74
POV PN 4 JT432 POV PN 4 Ad542
N ~5~~1 w6 N 1~~~~ vwKNM
S ~5~~1 ¢KQJ32 S 1 ~~~~ o954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a 75 2DW2-90 Mean: 2DXW-2 300 7.0 1 ||# 22 o Kb 3NE3 -600 Mean: 3NE-1 100 90 5
v K53 2DXW-2300 20 3DW-2 100 20 2 v QT76 3NE-1100 -310 3NE3 600 -7.0 5
¢ QT52 Dif: -390 NS:-3 2DW-2 100 20 2 ¢ T9 Dif: -700 NS:-7 3NE4 630 -80 2
» A863 IMP: -9 EW:-7 2DW-1 50 1.0 2 & Q7432 IMP: -12 EW:-9
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 -90 3.0 4 ||eJo3 — v AK8
¢ A98643 ¢ J7 ¢ AQ432 ¢ KJ87
» K2 & QJ74 a5 » A86
®eVeN Lo QJI82 ®eVeN L AS73
N 1~111 vAQ62 N 1~~~~ 542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW4 -620 Mean: 4SW-1 100 120 1 |[|# 24 o QJ953 4SS-1-50 Mean: 4SS4 420 9.0 1
v AJ973 4SE4 -620 -510  3HS3 140 120 1 v 42 5HE-2100 30  5HW-2 100 20 1
* K52 Dif: 0 NS:-3 4sw4 620 3.0 3 *J Dif: -150 NS:-2 5HE-2 100 20 1
» AT3 IMP: 0 EW:3 4SE4 620 -3.0 1 & AQT52 IMP: -4 EW:-2 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 48S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ +QT86 N ~1~3~9T9
S ~11~~ ¢QT76 S ~1~3~ ¢ K98752
E 2~~4~ 4Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 6SN7 1010 Mean: 6sS7 1010 30 1 |[|# 26 a K72 2DE-1100 Mean: 4HW-3 300 6.0 1
v AQ 6SS7 1010 900  6SN7 1010 3.0 4 v 984 2HE-1100 60 3HW-2 200 4.0 2
. Dif: 0 NS:3 6NN7 1020 30 1 ¢ 8 Dif: 0 NS:1  3HW-1 100 1.0 1
a J732 IMP: 0 EW:-3 6CS7 9240 10 2 & AQT984 IMP: 0 EW:-1 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ 9762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 110 Mean: 2SS2 110 1.0 9 [[|# 28 s AQJ4 5DN5 600 Mean: 3NS4 630 20 1
v K2 2SN2110 90  2SN2 110 1.0 2 v5 3NS4 630 570 3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: -30 NS:1 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: -1 EW:-2 3DN6 170 9.0 1
& K9 & AQ7 4 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 & AQ976 & JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ Q654 N ~5123 »J9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 &KQJT E1~~~~ &3
~32~1 1 ~~~~




v 4 —_—
10 2019 < >RpEHEF ML = == RI0 10
KA
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
2 NS: HEMER BEIFSR(EEO) 20 1 2 NS: Hig R JtHE (BAC) 7 VP:| 12.71 7.29 Total VP: 87.48 Rank:
EW: B8 #{—EEHC) -7 EW: B {& $>C#t(F50) -20 IMP:| 50 41 9
—_ —
# 15 # K965 6HS7 1460 Mean: 7HS7 2210 13.0 1 |[|# 16 » KQJ9 2CN4 130 Mean: 2NN2 120 40 1
v A97 6HS7 1460 1390 6NS7 1470 20 1 v J86 3NN-1-50 -20 2CN4 130 40 1
¢ AB65 Dif: 0 NS:2 6HS7 1460 20 6 + Q76 Dif: 180 NS:4 3NS-1 50 1.0 1
» J8 IMP: 0 EW:-2 6HS6 1430 10 2 » AQ4 IMP: 5 EW:1 3NN-1 50 1.0 9
a JT3 » Q8742 4HS7 710 120 1 ||a 64 & T852
v Q5 | v T64 4Hs6 680 120 1 |[v T7542 — v KQ
¢ QU4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 » 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 wA9
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » 19843 5CE6 -420 Mean: 3HXS3 530 130 1 [|# 18 a 865 4SE5-450 Mean: 5DW-1 50 80 1
v QT54 3HXS3 530 -330 5DXE-1 100 100 1 v AJ4 5DW-150 -290 2DW3 110 50 1
¢ K74 Dif: -950 NS:-3 4SXS-1 100 6.0 1 ¢ 764 Dif: -500 NS:-4 3DW5 150 4.0 2
a3 IMP: -14 EW:-13 4CW5 150 50 1 & KT72 IMP: -11 EW:-8 3DW4 130 4.0 1
a7 & Q52 3HXS-2 300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 2420 3.0 1 ||leK I v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
 T98765 & AKQ4 5CXE6 650 8.0 1 |[|a& A a 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POEVEN ,43
N ~~13~ «»AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 3DS5150 Mean: 5DXXS5 800 11.0 1 |[|# 20 s JT8 2DW4 -130 Mean: 4HE-1 100 90 5
v AJ43 5DS5400 280 5DXS5 550 7.0 1 v 9 4HE4 -620 -270 2DW4 130 4.0 1
o T7654 Dif: -250 NS:-4 5DS5 400 30 2 ¢ QT Dif: 490 NS:4 4HW4 620 -80 1
» KT4 IMP: -6 EW:-3 5HE-3 300 10 1 » QJ98653 IMP: 10 EW:8 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 ||a KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 + v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 * KJ72
& AQJ95 & 732 25S-2 400 9.0 1 ||aAT a 74
POV PN 4 JT432 POV PN 4 Ad542
N ~5~~1 96 N 1~~~~ vKJi
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a5 2HS-1 -100 Mean: 2DXW-2 300 70 1 |[|# 22 & Kb 3NE-1 100 Mean: 3NE-1 100 9.0 5
v K53 2DW2-90 20 3DW-2 100 20 2 v QT76 3NE3 -600 -310 3NE3 600 -7.0 5
¢ QT52 Dif: -10 NS:-3 2DW-2 100 20 2 ¢ T9 Dif: 700 NS:9 3NE4 630 -80 2
» A863 IMP: 0 EW:3 2DW-1 50 10 2 & Q7432 IMP: 12 EW:7
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 90 3.0 4 [|eJ93 —_— v AK8
¢ A98643 ¢ J7 ¢ AQ432 * KJ87
» K2 & QJ74 a5 » A86
PEVAEN ,QJ982 ®eVeN L AS73
N 1~111 »AQ62 N 1~~~~ o542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW-1 100 Mean: 4SW-1 100 120 1 ||# 24 4 QJ953 4SS-1-50 Mean: 4SS4 420 9.0 1
v AJ973 4SW4 -620 -510  3HS3 140 120 1 v 42 4S5S4 420 30  5HW-2 100 20 1
* K52 Dif: 720 NS:12 4Sw4 620 3.0 3 *J Dif: -470 NS:-2 5HE-2 100 20 1
» AT3 IMP: 12 EW:3 4SE4 620 -3.0 1 & AQT52 IMP: -10 EW:-9 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 45S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 * AJ943 * A63 ¢ QT4 4SXN-1 100 40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ »QT86 N ~1~3~ »T9
S ~11~~ ¢QT76 S ~ 1~ 3~ ¢ K98752
E 2~~4~ Q52 E 1~3~3 &K
3~~4~ 1~3~3
# 25 ‘o AKQ 9872 6CS7940 Mean: 6SS7 1010 30 1 |[|# 26 » Ki2 PHW-1100° Mean: 4HW-3 30 6.0 1
v AQ 4SN7 510 900  6SN7 1010 3.0 4 v 984 3HW-1100 60 3HW-2 200 4.0 2
. Dif: 430 NS:1  6NN7 1020 30 1 ¢ 8 Dif: 0 NS:1 3HW-1 100 1.0 1
a J732 IMP: 10 EW:9 6CS7 9240 10 2 & AQT984 IMP: 0 EW:-1 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
®OVPN A6 PIVEN 4 J 2HE2 110 5.0 1
N 72176 »J5 N 1~~~~ o762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ & AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 110 Mean: 2SS2 110 1.0 9 ||# 28 & AQJ4 3NN4 630 Mean: 3NS4 630 20 1
v K2 2SS2110 90  2SN2 110 1.0 2 v5 5DN5 600 570 3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: 30 NS:2 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: 1 EW:-1 3DN6 170 9.0 1
» K9 & AQ7 A 865 s T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 » AQ976 » JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ »Q654 N ~5123 vJ9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 aKQJT E1~~~~ &3
;




: e ==> R10
10 2019 < 3 > RRERE il == 10
A
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
3 NS: BEESF HREEFEEO) 5 1 0 NS: S84 2518 (BAC) 12 VP:| 8.13 11.87 | Total VP: 111.31 Rank:
EW: Sz B2 EFEIC) -12 EW: BETRL #3705 (F10) -5 IMP:| 8 : 14 4
—_ —
# 15 # K965 6HS7 1460 Mean: 7HS7 2210 13.0 1 |[|# 16 » KQJ9 3NN-1-50 Mean: 2NN2 120 40 1
v A97 6HS7 1460 1390 6NS7 1470 20 1 v J86 3NN-1-50 -20 2CN4 130 40 1
¢ AB65 Dif: 0 NS:2 6HS7 1460 20 6 + Q76 Dif: 0 NS:-1 3NS-1 50 1.0 1
» J8 IMP: 0 EW:-2 6HS6 1430 10 2 » AQ4 IMP: 0 EW:1 3NN-1 50 1.0 9
a JT3 » Q8742 4HS7 710 120 1 ||a 64 » T852
v Q5 | v T64 4Hs6 680 120 1 |[v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 » 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 wA9
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » T9843 5DXE-1100 Mean: 3HXS3 530 130 1 ||# 18 » 865 4SE4420° Mean: 5DW-1 50 80 1
v QT54 4CW5 -150 -330  5DXE-1 100 100 1 v A4 4SE5 -450 -290 2DW3 4110 50 1
¢ K74 Dif: 250 NS:10 4SXS-1 100 6.0 1 ¢ 764 Dif: 30 NS:-4 3DW5 150 4.0 2
a3 IMP: 6 EW:-5 4CW5 150 50 1 & KT72 IMP: 1 EW:4 3DW4 130 4.0 1
a7 & Q52 3HXS-2  -300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 420 3.0 1 ||e K7 | v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 8.0 1 ||s A9 » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POEVEN ,43
N ~~13~ «»AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 28S5-2-100 Mean: 5DXXS5 800 110 1 ||# 20 s JT8 4HE-1100 Mean: 4HE-1 100 90 5
v AJ43 3DS5150 280 5DXS5 550 7.0 1 v 9 4HE-1100 -270 2DW4 130 4.0 1
o T7654 Dif: -250 NS:-9 5DS5 400 30 2 ¢ QT Dif: 0 NS:9 4HW4 620 -80 1
» KT4 IMP: -6 EW:4 5HE-3 300 10 1 » QJ98653 IMP: 0 EW:-9 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 + v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 ¢ KJ72
& AQJ95 & 732 25S-2 400 9.0 1 ||aAT a 74
POV N 4 JT432 ® OV PN 4 AL
N ~5~~1 96 N 1~~~~ vKJi
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a5 2DW2 -90 Mean: 2DXW-2 300 70 1 |[|# 22 & Kb 3NE-1 100 Mean: 3NE-1 100 9.0 5
v K53 2DW-150 20 3DW-2 100 20 2 v QT76 3NE-1100 -310 3NE3 600 -7.0 5
¢ QT52 Dif: -140 NS:-3 2DW-2 100 20 2 ¢ T9 Dif: 0 NS:9 3NE4 630 -80 2
» A863 IMP: -4 EW:-1 2DW-1 50 1.0 2 & Q7432 IMP: 0 EW:-9
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 90 3.0 4 ||eJ93 —_— v AK8
¢ A98643 ¢ J7 ¢ AQ432 ¢ KJ87
» K2 & QJ74 a5 » A86
PEVAEN ,QJ982 ®eVeN L AS73
N 1~111 vAQ62 N 1~~~~ v542
S 1~111 oK S 1~~~~ 465
E ~1~~~ aT9% E ~4223 &KJT9
~1~~~ ~4223
# 23 a3 4SW5 -650 Mean: 4SW-1 100 120 1 ||# 24 4 QJ953 4SXN-1-100 Mean: 4SS4 420 9.0 1
v AJ973 4SW5 -650 -510  3HS3 140 120 1 v 42 48S-1-50 30  5HW-2 100 20 1
o K52 Dif: 0 NS:-4 4sw4 620 3.0 3 *J Dif: -50 NS:-4 5HE-2 100 20 1
» AT3 IMP: 0 EW:4 4SE4 620 -3.0 1 & AQT52 IMP: -2 EW:2 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 48S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ »QT86 N ~1~3~ »T9
S ~11~~ ¢QT76 S ~1~3~ ¢K98752
E 2~~4~ Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 6CS7940 Mean: 6SS7 1010 30 1 |[|# 26 » Ki2 SDE2 00 Mean: 4HW-3 30 6.0 1
v AQ 6NN7 1020 900  6SN7 1010 3.0 4 v 984 2DE2 -90 60 3HW-2 200 4.0 2
. Dif: -80 NS:1  6NN7 1020 30 1 ¢ 8 Dif: 0 NS:-4 3HW-1 100 1.0 1
a J732 IMP: -2 EW:-3 6CS7 9240 10 2 & AQT984 IMP: 0 EW:4 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ o762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SN2 110 Mean: 2SS2 110 1.0 9 ||# 28 & AQJ4 3NN4 630 Mean: 3NS4 630 20 1
v K2 2SS2110 90  2SN2 110 1.0 2 v5 5DN5 600 570  3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: 30 NS:2 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: 1 EW:-1 3DN6 170 9.0 1
& K9 & AQ7 4 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 & AQ976 & JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ »Q654 N ~5123 vJ9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 aKQJT E1~~~~ &3
;




v 4 —_—
10 2019 < >RpEHEF ML = == RI0 10
A
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
4 NS: BE&A$H =2 (5H0) -8 8 NS: Bz BIE 5 (BAC) -6 VP:| 8.42 11.58 | Total VP: 73.08 Rank:
EW: #7727 #r=HEAC) 6 EW: {5k Eh78(550) 8 IMP:| 32 37 1"
—_ —
# 15 # K965 6HS6 1430 Mean: 7HS7 2210 13.0 1 |[|# 16 » KQJ9 3NN-1-50 Mean: 2NN2 120 40 1
v A97 6NS7 1470 1390 6NS7 1470 20 1 v J86 2NN2 120 -20 2CN4 130 40 1
¢ AB65 Dif: -40 NS:1  6HS7 1460 20 6 + Q76 Dif: -170 NS:-1  3NS-1 50 1.0 1
» J8 IMP: -1 EW:-2 6HS6 1430 10 2 » AQ4 IMP: -5 EW:-4 3NN-1 50 1.0 9
a JT3 » Q8742 4HS7 710 120 1 ||a 64 » T852
v Q5 | v T64 4HS6 680 120 1 ||v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 & 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 v A93
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 a T9843 BHXS-4-800 Mean: 3HXS3 530 130 1 ||# 18 » 865 2DW3-110° Mean: 5DW-1 50 80 1
v QT54 3HXS-2 -300 -330 5DXE-1 100 100 1 v AJ4 4SE5 -450 -290 2DW3 110 50 1
¢ K74 Dif: -500 NS:-10 4SXS-1 100 6.0 1 ¢ 764 Dif: 340 NS:5 3DW5 150 4.0 2
a3 IMP: -11 EW:-1  4CW5 150 50 1 & KT72 IMP: 8 EW:4 3DW4 130 4.0 1
a7 & Q52 3HXS-2  -300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 420 3.0 1 ||e K7 | v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 8.0 1 ||s A9 » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POVEN L, 43
N ~~13~ o AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 4DS5 150 Mean: 5DXXS5 800 11.0 1 ||# 20 s JT8 4HW4 -620 Mean: 4HE-1 100 90 5
v AJ43 5DXS5550 280  5DXS5 550 7.0 1 v 9 4HE4 -620 -270 2DW4 130 4.0 1
o T7654 Dif: -400 NS:-4 5DS5 400 30 2 + QT Dif: 0 NS:-8 4HW4 620 -80 1
» KT4 IMP: -9 EW:-7 5HE-3 300 10 1 » QJ98653 IMP: 0 EW:8 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 _I_ v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 * KJ72
» AQJ95 & 732 28S-2 <100 9.0 1 & AT a» 74
POV PN 4 JT432 POV PN 4 Ad542
N ~5~~1 w6 N 1~~~~ »wKJM
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a 75 3DW-2100 Mean: 2DXw-2 300 7.0 1 ||# 22 o Kb 3NE-1 100 Mean: 3NE-1 100 90 5
v K53 3DW-2100 20 3DW-2 100 20 2 v QT76 3NE3 -600 -310 3NE3 600 -7.0 5
¢ QT52 Dif: 0 NS:2 2DW-2 100 20 2 ¢ T9 Dif: 700 NS:9 3NE4 630 -80 2
» A863 IMP: 0 EW:-2 2DW-1 50 10 2 & Q7432 IMP: 12 EW:7
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 90 3.0 4 ||eJ93 —_— v AK8
¢ A98643 ¢ J7 ¢ AQ432 ¢ KJ87
» K2 & QJ74 a5 » A86
®eVeN Lo QJI82 ®eVeN L AS73
N 1~111 vAQ62 N 1~~~~ 542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW5 -650 Mean: 4SW-1 100 120 1 |[|# 24 o QJ953 5HW-150 Mean: 4Ss4 420 9.0 1
v AJ973 4SW5 -650 -510  3HS3 140 120 1 v 42 5HW-2100 30  5HW-2 100 20 1
* K52 Dif: 0 NS:-4 4sw4 620 3.0 3 *J Dif: -50 NS:1 5HE-2 100 20 1
» AT3 IMP: 0 EW:4 4SE4 620 -3.0 1 & AQT52 IMP: -2 EW:-2 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 48S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ +QT86 N ~1~3~9T9
S ~11~~ ¢QT76 S ~1~3~ ¢ K98752
E 2~~4~ 4Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 6SN7 1010 Mean: 6sS7 1010 30 1 |[|# 26 a K72 2HE2-110 Mean: 4HW-3 300 6.0 1
v AQ 6CN7 940 900  6SN7 1010 3.0 4 v 984 4HW-3 300 60 3HW-2 200 4.0 2
. Dif: 70 NS:3  6NN7 1020 30 1 ¢ 8 Dif: -410 NS:-5 3HW-1 100 1.0 1
a J732 IMP: 2 EW:-1 6CS7 9240 10 2 & AQT984 IMP: -9 EW:-6 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
POVEN 46 POVEN 4 2HE2 410 5.0 1
N 72176 »J5 N 1~~~~ 9762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 110 Mean: 2SS2 110 1.0 9 ||# 28 & AQJ4 3NN4 630 Mean: 3NS4 630 20 1
v K2 2SS2110 90  2SN2 110 1.0 2 v5 3DN6 170 570  3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: 460 NS:2 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: 10 EW:9 3DN6 170 9.0 1
& K9 & AQ7 & 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 & AQ976 & JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ Q654 N ~5123 v J9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 &KQJT E1~~~~ &3
~32~1 1 ~~~~




: e ==> R10
10 2019 < 3 > RRERE il == 10
A
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
5 NS: {2 FREHHEEO) -20 7 NS: BA.#& B8R (EAC) -3 VP:| 9.67 10.33| Total VP: 118.56 Rank:
EW: REEE BEBHEAC) 30 EW: BREEER BESF R (FFO) 24 IMP:| 40 41 2
—_ —
# 15 & K965 4HS7 710 Mean: 7HS7 2210 13.0 1 ||# 16 » KQJ9 3NN-1-50 Mean: 2NN2 120 40 1
v A97 6HS7 1460 1390 6NS7 1470 20 1 v J86 3NN-1-50 -20 2CN4 130 40 1
« ABB5 Dif: -750 NS:-12 6HS7 1460 20 6 ¢ Q76 Dif: 0 NS:-1  3NS-1 50 1.0 1
» J8 IMP: -13 EW:-2 6HS6 1430 10 2 » AQ4 IMP: 0 EW:1 3NN-1 50 1.0 9
a JT3 » Q8742 4HS7 710 120 1 ||a 64 » T852
v Q5 | v T64 4Hs6 680 120 1 |[v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 » 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 wA9
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » 79843 6CW6-920 Mean: 3HXS3 530 130 1 ||# 18 2865 3DW5 150" Mean: 5DW-1 50 80 1
v QT54 5CE6 -420 -330  5DXE-1 100 100 1 v A4 4SE4 -420 -290 2DW3 4110 50 1
¢ K74 Dif: -500 NS:-11 4SXS-1 100 6.0 1 ¢ 764 Dif: 270 NS:4 3DW5 150 4.0 2
a3 IMP: -11 EW:3 4CW5 150 50 1 & KT72 IMP: 7 EW:4 3DW4 130 4.0 1
a7 & Q52 3HXS-2  -300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 2420 3.0 1 ||leK I v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 80 1 |[|as A » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POEVEN ,43
N ~~13~ «»AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 5DXXS5 800 Mean: 5DXXS5 800 11.0 1 ||# 20 s JT8 4HE-1100 Mean: 4HE-1 100 90 5
v AJ43 4DS5150 280  5DXS5 550 7.0 1 v 9 4HE4 -620 -270 2DW4 130 4.0 1
o T7654 Dif: 650 NS:11 5DS5 400 30 2 ¢ QT Dif: 720 NS:9 4HW4 620 -80 1
» KT4 IMP: 12 EW:4 5HE-3 300 10 1 » QJ98653 IMP: 12 EW:8 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 + v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 ¢ KJ72
& AQJ95 & 732 25S-2 400 9.0 1 ||aAT a 74
POV PN A JT432 ® OV PN 4 AL
N ~5~~1 96 N 1~~~~ vKJi
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a5 2DW-150 Mean: 2DXW-2 300 70 1 |[|# 22 & Kb 3NE4 -630 Mean: 3NE-1 100 9.0 5
v K53 2DW2-90 20 3DW-2 100 20 2 v QT76 3NE3 -600 -310  3NE3 600 -7.0 5
¢ QT52 Dif: 140 NS:1 2DW-2 100 20 2 ¢ T9 Dif: -30 NS:-8 3NE4 630 -80 2
» A863 IMP: 4 EW:3 2DW-1 50 10 2 & Q7432 IMP: -1 EW:7
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 90 3.0 4 [|eJ93 —_— v AK8
¢ A98643 ¢ J7 ¢ AQ432 ¢ KJ87
» K2 & QJ74 a5 » A86
PEVAEN ,QJ982 ®eVeN L AS73
N 1~111 vAQ62 N 1~~~~ 542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW5 -650 Mean: 4SW-1 100 120 1 |[|# 24 o QJ953 5HW-150 Mean: 4S5S4 420 9.0 1
v AJ973 4SW5 -650 -510  3HS3 140 120 1 v 42 5HW-150 30  5HW-2 100 20 1
* K52 Dif: 0 NS:-4 4sw4 620 3.0 3 *J Dif: 0 NS:1  5HE-2 100 20 1
» AT3 IMP: 0 EW:4 4SE4 620 -3.0 1 & AQT52 IMP: 0 EW:-1 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 48S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ »QT86 N ~1~3~ »T9
S ~11~~ ¢QT76 S ~1~3~ ¢K98752
E 2~~4~ Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 4SN7510 Mean: 6SS7 1010 30 1 |[|# 26 » Ki2 36812100 Mean: 4HW-3 30 6.0 1
v AQ 6SN7 1010 900  6SN7 1010 3.0 4 v 984 2HW-1 100 60 3HW-2 200 4.0 2
. Dif: -500 NS:-9 6NN7 1020 30 1 ¢ 8 Dif: -200 NS:-4 3HW-1 100 1.0 1
a J732 IMP: -11 EW:-3 6CS7 9240 10 2 & AQT984 IMP: -5 EW:-1 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ o762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 110 Mean: 2SS2 110 1.0 9 ||# 28 & AQJ4 3NN4 630 Mean: 3NS4 630 20 1
v K2 2SN-1-50 90  2SN2 110 1.0 2 v5 5DN5 600 570  3NN4 630 2.0 4
¢ 52 Dif: 160 NS:1  2SN-1 50 -40 1 + KQT85 Dif: 30 NS:2 5DN5 600 1.0 6
» 875 IMP: 4 EW:4 » K82 IMP: 1 EW:-1 3DN6 170 9.0 1
& K9 & AQ7 & 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 & AQ976 & JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ »Q654 N ~5123 vJ9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 aKQJT E1~~~~ &3
;




v 4 —_—
10 2019 < >RpEHEF ML = == RI0 10
A
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
6 NS: B8 BEiEU(FEO) 7 9 NS: FRESE BE{HER (EAC) 29 VP:| 4.74 15.26 | Total VP: 63.38 Rank:
EW: 527558 SREER(FIC) -29 EW: BiRE A8 (510) -7 IMP:| 11 : 31 12
—_ —
# 15 # K965 6HS6 1430 Mean: 7HS7 2210 13.0 1 |[|# 16 » KQJ9 3NN-1-50 Mean: 2NN2 120 40 1
v A97 7HS7 2210 1390 6NS7 1470 20 1 v J86 3NN-1-50 -20 2CN4 130 40 1
« ABB5 Dif: -780 NS:1 6HS7 1460 20 6 ¢ Q76 Dif: 0 NS:-1  3NS-1 50 1.0 1
» J8 IMP: -13 EW:-13 6HS6 1430 10 2 » AQ4 IMP: 0 EW:1 3NN-1 50 1.0 9
a JT3 » Q8742 4HS7 710 120 1 ||a 64 » T852
v Q5 | v T64 4Hs6 680 120 1 |[v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 & 852 & K3
POEVEN LA POVEN , A73
N 757 37 »HKJ832 N 3~132 v A93
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » T9843 5CW6-420 Mean: 3HXS3 530 130 1 ||# 18 » 865 3DW4 130" Mean: 5DW-1 50 80 1
v QT54 5CE6 -420 -330  5DXE-1 100 100 1 v AJ4 4SE5 -450 -290 2DW3 110 50 1
¢ K74 Dif: 0 NS:-3 4SXS-1 100 6.0 1 ¢ 764 Dif: 320 NS:4 3DW5 150 4.0 2
a3 IMP: 0 EW:3 4CW5 150 50 1 & KT72 IMP: 8 EW:4 3DW4 130 4.0 1
a7 & Q52 3HXS-2  -300 1.0 1 ||a KJ7 » AQT92 4SE5 450 40 5
v K962 v 5CW6 420 3.0 1 ||e K7 | v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 8.0 1 ||s A9 » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POEVEN ,43
N ~~13~ «»AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 &QJo4
64 ~~1 ~3152
# 19 a A 5DS5 400 Mean: 5DXXS5 800 11.0 1 |[|# 20 s JT8 4HE-1100 Mean: 4HE-1 100 90 5
v AJ43 5HE-3300 280 5DXS5 550 7.0 1 v 9 4HE-1100 -270 2DW4 130 4.0 1
o T7654 Dif: 100 NS:3 5DS5 400 30 2 ¢ QT Dif: 0 NS:9 4HW4 620 -80 1
» KT4 IMP: 3 EW:-1 5HE-3 300 10 1 » QJ98653 IMP: 0 EW:-9 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 + v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 ¢ KJ72
& AQJ95 & 732 25S-2 400 9.0 1 ||aAT a 74
POV N 4 JT432 ® OV PN 4 AL
N ~5~~1 96 N 1~~~~ vKJi
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a75 2DW-2100 Mean: 2DXxw-2 300 7.0 1 ||# 22 » Kb 3NE4 630 Mean: 3NE-1 100 90 5
v K53 2DW-2100 20 3DW-2 100 20 2 v QT76 3NE3 -600 -310  3NE3 600 -7.0 5
¢ QT52 Dif: 0 NS:2 2DW-2 100 20 2 ¢ T9 Dif: -30 NS:-8 3NE4 630 -80 2
» A863 IMP: 0 EW:-2 2DW-1 50 10 2 & Q7432 IMP: -1 EW:7
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 90 3.0 4 ||eJ93 —_— v AK8
¢ A98643 ¢ J7 ¢ AQ432 ¢ KJ87
» K2 & QJ74 a5 » A86
PEVAEN ,QJ982 ®eVeN L AS73
N 1~111 »AQ62 N 1~~~~ v542
S 1~111 oK S 1~~~~ 465
E ~1~~~ aT9% E ~4223 &KJT9
~1~~~ ~4223
# 23 a3 4SW4 -620 Mean: 4SW-1 100 120 1 ||# 24 » QJ953 45XS-1-100 Mean: 4SS4 420 9.0 1
v AJ973 3HS3140 -510 3HS3 140 120 1 v 42 48S-1-50 30  5HW-2 100 20 1
o K52 Dif: -760 NS:-3 4Sw4 620 3.0 3 *J Dif: -50 NS:-4 5HE-2 100 20 1
» AT3 IMP: -13 EW:-12 4SE4 620 -3.0 1 & AQT52 IMP: -2 EW:2 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 48S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®OIVEN o Q8 ®OVPN L, KI87
N ~11~~ »QT86 N ~1~3~ »T9
S ~11~~ ¢QT76 S ~1~3~ ¢K98752
E 2~~4~ Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 6CN7 940 Mean: 6ss7 1010 30 1 |[|# 26 » Ki2 3HW-2200 Mean: 4HW-3 30 6.0 1
v AQ 6SN7 1010 900  6SN7 1010 3.0 4 v 984 3HW-2200 60 3HW-2 200 4.0 2
. Dif: -70 NS:1  6NN7 1020 30 1 ¢ 8 Dif: 0 NS:4 3HW-1 100 1.0 1
a J732 IMP: -2 EW:-3 6CS7 9240 10 2 & AQT984 IMP: 0 EW:-4 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 ||a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 & 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ o762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 110 Mean: 2SS2 110 1.0 9 [[|# 28 s AQJ4 5DN5 600 Mean: 3NS4 630 20 1
v K2 2SS2110 90  2SN2 110 1.0 2 v5 5DN5 600 570  3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: 0 NS:1 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: 0 EW:-1 3DN6 170 9.0 1
& K9 & AQ7 & 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 & AQ976 & JT54
POVEN o562 ®OVEN L, K9
N 1~~2~ »Q654 N ~5123 vJ9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 aKQJT E1~~~~ &3
;




2019F < Z >RMBERE M2 = RIO

10

#1: 10 To Win(129.05) #2: 5 £ %£(118.56) #3: 9 Formosa(115.37)

7 NS: R #EREIC) -30 5 NS: fi[5HE TRIEH(BEO) -2 VP:| 10.33 : 9.67 | Total VP: 108.23 Rank:
EW: B BESF R(BEO) 20 EW: 2EHE @ 5E8H(EAC) 3( IMP:| 41 40 5
—_ —
# 15 # K965 4HS7 -710 Mean: T7HS7 2210 13.0 1 |[|# 16 » KQJ9 3NN-150 Mean: 2NN2 120 40 1
v A97 6HS7 -1460 1390 6NS7 1470 20 1 v J86 3NN-150 -20 2CN4 130 40 1
¢ AB65 Dif: 750 NS:2 6HS7 1460 20 6 + Q76 Dif: 0 NS:-1 3NS-1 50 1.0 1
» J8 IMP: 13 EW:12 6HS6 1430 10 2 » AQ4 IMP: 0 EW:1 3NN-1 50 1.0 9
4 JT3 4 Q8742 4HS7 710 120 1 ||a 64 & T852
v Q5 | v T64 4HS6 680 120 1 ||v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 » 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 v A93
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » T9843 6CW6920 Mean: 3HXS3 530 130 1 ||# 18 2865 3DW5150 Mean: 5DW-1 50 80 1
v QT54 5CE6 420 -330 5DXE-1 100 100 1 v AJ4 4SE4 420 -290 2DW3 110 50 1
¢ K74 Dif: 500 NS:-3 4SXS-1 100 6.0 1 ¢ 764 Dif: -270 NS:-4 3DW5 150 4.0 2
a3 IMP: 11 EW:11 4CW5 150 50 1 & KT72 IMP: -7 EW:-4 3DW4 130 4.0 1
a7 & Q52 3HXS-2  -300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 420 3.0 1 ||e K7 | v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 8.0 1 ||s A9 » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POVEN L, 43
N ~~13~ o AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 5DXXS5-800 Mean: 5DXXS5 800 11.0 1 ||# 20 s JT8 4HE-1-100 Mean: 4HE-1 100 90 5
v AJ43 4DS5 -150 280  5DXS5 550 7.0 1 v 9 4HE4 620 -270 2DW4 130 4.0 1
o T7654 Dif: -650 NS:-4 5DS5 400 30 2 + QT Dif: -720 NS:-8 4HWA4 620 -80 1
» KT4 IMP: -12 EW:-11 5HE-3 300 10 1 » QJ98653 IMP: -12 EW:-9 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 _I_ v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 * KJ72
» AQJ95 & 732 28S-2 <100 9.0 1 & AT a» 74
POV PN 4 JT432 POV PN 4 Ad542
N ~5~~1 w6 N 1~~~~ vwKNM
S ~5~~1 ¢KQJ32 S 1 ~~~~ o954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a75 2DW-1-50 Mean: 2DXW-2 300 7.0 1 |[|# 22 » Kb 3NE4'630 Mean: 3NE-1 100 90 5
v K53 2DW290 20 3DW-2 100 20 2 v QT76 3NE3 600 -310 3NE3 600 -7.0 5
¢ QT52 Dif: -140 NS:-3 2DW-2 100 20 2 ¢ T9 Dif: 30 NS:-7 3NE4 630 -80 2
» A863 IMP: -4 EW:-1 2DW-1 50 10 2 & Q7432 IMP: 1 EW:8
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 -90 3.0 4 ||eJo3 — v AK8
¢ A98643 ¢ J7 ¢ AQ432 ¢ KJ87
» K2 & QJ74 a5 » A86
®eVeN Lo QJI82 ®eVeN L AS73
N 1~111 vAQ62 N 1~~~~ 542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW5 650 Mean: 4SW-1 100 120 1 |[|# 24 o QJ953 5HW-1 -50 Mean: 4SS4 420 9.0 1
v AJ973 4SW5 650 -510 3HS3 140 120 1 v 42 5HW-1-50 30  5HW-2 100 20 1
* K52 Dif: 0 NS:-4 4sw4 620 3.0 3 *J Dif: 0 NS:1  5HE-2 100 20 1
» AT3 IMP: 0 EW:4 4SE4 620 -3.0 1 & AQT52 IMP: 0 EW:-1 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 48S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ +QT86 N ~1~3~9T9
S ~11~~ ¢QT76 S ~1~3~ ¢ K98752
E 2~~4~ 4Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 4SN7-510 Mean: 6SS7 1010 30 1 |[|# 26 » Ki2 3CS4100° Mean: 4HW-3 30 6.0 1
v AQ 6SN7 -1010 900  6SN7 1010 3.0 4 v 984 2HW-1-100 60 3HW-2 200 4.0 2
. Dif: 500 NS:3 6NN7 1020 30 1 ¢ 8 Dif: 200 NS:1  3HW-1 100 1.0 1
a J732 IMP: 11 EW:9 6CS7 9240 10 2 & AQT984 IMP: 5 EW:4 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ 9762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 -110 Mean: 2SS2 110 1.0 9 ||# 28 & AQJ4 3NN4 -630 Mean: 3NS4 630 20 1
v K2 2SN-150 90  2SN2 110 1.0 2 v5 5DN5 -600 570  3NN4 630 2.0 4
¢ 52 Dif: 160 NS:-4 2SN-1 50 -40 1 + KQT85 Dif: -30 NS:1 5DN5 600 1.0 6
» 875 IMP: -4 EW:-1 » K82 IMP: -1 EW:-2 3DN6 170 9.0 1
& K9 & AQ7 & 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 & AQ976 & JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ Q654 N ~5123 »J9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 &KQJT E1~~~~ &3
~32~1 1 ~~~~




2019F < Z >RMBERE M2 = RIO

10

#1: 10 To Win(129.05) #2: 5 £ %£(118.56) #3: 9 Formosa(115.37)

8 NS: ZEBE ZI518(EAC) -6 4 NS: BEgagE 27— (B90) -8 VP:| 11.58 : 8.42 | Total VP: 86.91 Rank:
EW FE{—5R EI7N(BHO) 8 EW: 37,9 #rEEH(FC) 6 IMP:| 37 32 10
—
# 15 Py K965 6HS6 -1430 Mean: 7HS7 2210 13.0 1 |[# 16 » KQJ9 3NN-150 Mean: 2NN2 120 40 1
v A97 6NS7 -1470 1390 6NS7 1470 20 1 v J86 2NN2 -120 -20 2CN4 130 40 1
¢ AB65 Dif: 40 NS:2 6HS7 1460 20 6 + Q76 Dif: 170 NS:4 3NS-1 50 1.0 1
» J8 IMP: 1 EW:-1 6HS6 1430 10 2 » AQ4 IMP: 5 EW:1 3NN-1 50 1.0 9
a JT3 » Q8742 4HS7 710 120 1 ||a 64 » T852
v Q5 | v T64 4Hs6 680 120 1 |[v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 » 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 wA9
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » T9843 B5HXS-4'800 Mean: 3HXS3 530 130 1 ||# 18 » 865 2DW3110° Mean: 5DW-1 50 80 1
v QT54 3HXS-2300 -330 5DXE-1 100 100 1 v AJ4 4SE5450 -290 2DW3 110 50 1
¢ K74 Dif: 500 NS:1 4SXS-1 100 6.0 1 ¢ 764 Dif: -340 NS:-4 3DW5 150 4.0 2
a3 IMP: 11 EW:10 4CW5 150 50 1 & KT72 IMP: -8 EW:-5 3DW4 130 4.0 1
a7 & Q52 3HXS-2 300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 420 3.0 1 ||e K7 | v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 8.0 1 ||s A9 » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POEVEN ,43
N ~~13~ «»AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 s ~ ~ ~~ ¢QJ9
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 4DS5-150 Mean: 5DXXS5 800 11.0 1 ||# 20 s JT8 4HW4 620 Mean: 4HE-1 100 90 5
v AJ43 5DXS5 -550 280  5DXS5 550 7.0 1 v 9 4HE4 620 -270 2DW4 130 4.0 1
o T7654 Dif: 400 NS:7 5DS5 400 30 2 ¢ QT Dif: 0 NS:-8 4HW4 620 -80 1
» KT4 IMP: 9 EW:4 5HE-3 300 10 1 » QJ98653 IMP: 0 EW:8 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 _I_ v AQ8532
*9 ¢ A8 3DS5 150 -40 3 ||e A863 * KJ72
» AQJ95 & 732 28S-2 <100 9.0 1 & AT a» 74
POV PN 4 JT432 POV PN 4 Ad542
N ~5~~1 w6 N 1~~~~ »wKJM
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a5 3DW-2 -100 Mean: 2DXW-2 300 70 1 |[|# 22 & Kb 3NE-1-100 Mean: 3NE-1 100 9.0 5
v K53 3DW-2 -100 20 3DW-2 100 20 2 v QT76 3NE3 600 -310 3NE3 600 -7.0 5
¢ QT52 Dif: 0 NS:2 2DW-2 100 20 2 ¢ T9 Dif: -700 NS:-7 3NE4 630 -80 2
» A863 IMP: 0 EW:-2 2DW-1 50 10 2 & Q7432 IMP: -12 EW:-9
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 90 3.0 4 [|eJ93 —_— v AK8
¢ A98643 ¢ J7 ¢ AQ432 ¢ KJ87
» K2 & QJ74 a5 » A86
PEVAEN ,QJ982 ®eVeN L AS73
N 1~111 »AQ62 N 1~~~~ 542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW5 650 Mean: 4SW-1 100 120 1 |[|# 24 o QJ953 5HW-1 -50 Mean: 4SS4 420 9.0 1
v AJ973 4SW5 650 -510 3HS3 140 120 1 v 42 5HW-2-100 30  5HW-2 100 20 1
* K52 Dif: 0 NS:-4 4sw4 620 3.0 3 *J Dif: 50 NS:2 5HE-2 100 20 1
» AT3 IMP: 0 EW:4 4SE4 620 -3.0 1 & AQT52 IMP: 2 EW:-1 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 48S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ »QT86 N ~1~3~ »T9
S ~11~~ ¢QT76 S ~1~3~ ¢K98752
E 2~~4~ Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 6SN7 -1010 Mean: 6SS7 1010 30 1 |[|# 26 » Ki2 SHE2 110" Mean: 4HW-3 30 6.0 1
v AQ 6CN7 -940 900  6SN7 1010 3.0 4 v 984 4HW-3 -300 60 3HW-2 200 4.0 2
. Dif: -70 NS:1  6NN7 1020 30 1 ¢ 8 Dif: 410 NS:6  3HW-1 100 1.0 1
a J732 IMP: -2 EW:-3 6CS7 9240 10 2 & AQT984 IMP: 9 EW:5 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ o762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 -110 Mean: 2SS2 110 1.0 9 ||# 28 & AQJ4 3NN4 -630 Mean: 3NS4 630 20 1
v K2 2SS2-110 90  2SN2 110 1.0 2 v5 3DN6 -170 570  3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: -460 NS:-9 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: -10 EW:-2 3DN6 170 9.0 1
& K9 & AQ7 & 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 & AQ976 & JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ »Q654 N ~5123 vJ9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 aKQJT E1~~~~ &3
~32~1 1~~~~




v 4 —_—
10 2019 < >RpEHEF ML = == RI0 10
KA
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
9 NS: 5RHE BE{ESR(EAC) 29 6 NS: A8 BEit4(BHO) 7 VP:[ 15.26 : 4.74 Total VP: 115.37 Rank:
EW: 2z E B30 EE0) -7 EW: &5 FREHR(EAC) -2 IMP:| 31 : 11 3
—_ —
# 15 & K965 6HS6 -1430 Mean: 7HS7 2210 13.0 1 |[# 16 » KQJ9 3NN-1 50 Mean: 2NN2 120 40 1
v A97 7HS7 -2210 1390 6NS7 1470 20 1 v J86 3NN-150 -20 2CN4 130 40 1
¢ AB65 Dif: 780 NS:13 6HS7 1460 20 6 + Q76 Dif: 0 NS:-1 3NS-1 50 1.0 1
» J8 IMP: 13 EW:-1 6HS6 1430 10 2 » AQ4 IMP: 0 EW:1 3NN-1 50 1.0 9
a JT3 » Q8742 4HS7 710 120 1 ||a 64 & T852
v Q5 | v T64 4Hs6 680 120 1 |[v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 » 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 wA9
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » 19843 5CW6 420 Mean: 3HXS3 530 130 1 [|# 18 a 865 3DW4 130 Mean: 5DW-1 50 80 1
v QT54 5CE6 420 -330 5DXE-1 100 100 1 v AJ4 4SE5450 -290 2DW3 110 50 1
¢ K74 Dif: 0 NS:-3 4SXS-1 100 6.0 1 ¢ 764 Dif: -320 NS:-4 3DW5 150 4.0 2
a3 IMP: 0 EW:3 4CW5 150 50 1 & KT72 IMP: -8 EW:-4 3DW4 130 4.0 1
a7 & Q52 3HXS-2 300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 2420 3.0 1 ||leK I v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 80 1 |[|as A » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POEVEN ,43
N ~~13~ «»AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 5DS5-400 Mean: 5DXXS5 800 11.0 1 ||# 20 s JT8 4HE-1-100 Mean: 4HE-1 100 90 5
v AJ43 5HE-3-300 280  5DXS5 550 7.0 1 v 9 4HE-1-100 -270 2DW4 130 4.0 1
o T7654 Dif: -100 NS:1 5DS5 400 30 2 ¢ QT Dif: 0 NS:9 4HW4 620 -80 1
» KT4 IMP: -3 EW:-3 5HE-3 300 10 1 » QJ98653 IMP: 0 EW:-9 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 + v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 ¢ KJ72
& AQJ95 & 732 25S-2 400 9.0 1 ||aAT a 74
POV N 4 JT432 ® OV PN 4 AL
N ~5~~1 96 N 1~~~~ vKJi
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a5 2DW-2 -100 Mean: 2DXW-2 300 70 1 |[|# 22 & Kb 3NE4 630 Mean: 3NE-1 100 9.0 5
v K53 2DW-2 -100 20 3DW-2 100 20 2 v QT76 3NE3 600 -310 3NE3 600 -7.0 5
¢ QT52 Dif: 0 NS:2 2DW-2 100 20 2 ¢ T9 Dif: 30 NS:-7 3NE4 630 -80 2
» A863 IMP: 0 EW:-2 2DW-1 50 1.0 2 & Q7432 IMP: 1 EW:8
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 90 3.0 4 [|eJ93 —_— v AK8
¢ A98643 ¢ J7 ¢ AQ432 * KJ87
» K2 & QJ74 a5 » A86
PEVAEN ,QJ982 ®eVeN L AS73
N 1~111 »AQ62 N 1~~~~ 542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW4 620 Mean: 4SW-1 100 120 1 |[|# 24 o QJ953 4SXS-1100 Mean: 4Ss4 420 9.0 1
v AJ973 3HS3 140 -510  3HS3 140 120 1 v 42 4SS-150 30  5HW-2 100 20 1
* K52 Dif: 760 NS:12 4Sw4 620 3.0 3 *J Dif: 50 NS:-2 5HE-2 100 20 1
» AT3 IMP: 13 EW:3 4SE4 620 -3.0 1 & AQT52 IMP: 2 EW:4 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 45S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ »QT86 N ~1~3~ »T9
S ~11~~ ¢QT76 S ~1~3~ ¢K98752
E 2~~4~ Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 6CN7 -940 Mean: 6SS7 1010 30 1 |[|# 26 » Ki2 3HW2.200° Mean: 4HW-3 30 6.0 1
v AQ 6SN7 -1010 900  6SN7 1010 3.0 4 v 984 3HW-2 -200 60 3HW-2 200 4.0 2
. Dif: 70 NS:3  6NN7 1020 30 1 ¢ 8 Dif: 0 NS:4 3HW-1 100 1.0 1
a J732 IMP: 2 EW:-1 6CS7 9240 10 2 & AQT984 IMP: 0 EW:-4 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ o762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 -110 Mean: 2SS2 110 1.0 9 [[|# 28 s AQJ4 5DN5 -600 Mean: 3NS4 630 20 1
v K2 2SS2-110 90  2SN2 110 1.0 2 v5 5DN5 -600 570  3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: 0 NS:1 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: 0 EW:-1 3DN6 170 9.0 1
& K9 & AQ7 4 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 » AQ976 » JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ »Q654 N ~5123 vJ9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 aKQJT E1~~~~ &3
;




v 4 —_—
10 2019 < >RpEHEF ML = == RI0 10
A
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
1 O NS: SEd04: ZHMEEIC) 12 3 NS: BT HEEF(B0) 5 VP:| 11.87 : 8.13 | Total VP: 129.05 Rank:
EW: BEl&d Bik#E(BHO) -5 EW: BIHiR #255(FC) -1 IMP:| 14 : 8 1
—_ —
# 15 & K965 6HS7 -1460 Mean: 7HS7 2210 13.0 1 |[# 16 » KQJ9 3NN-1 50 Mean: 2NN2 120 40 1
v A97 6HS7 -1460 1390 6NS7 1470 20 1 v J86 3NN-150 -20 2CN4 130 40 1
¢ AB65 Dif: 0 NS:2 6HS7 1460 20 6 + Q76 Dif: 0 NS:-1 3NS-1 50 1.0 1
» J8 IMP: 0 EW:-2 6HS6 1430 10 2 » AQ4 IMP: 0 EW:1 3NN-1 50 1.0 9
a JT3 » Q8742 4HS7 710 120 1 ||a 64 » T852
v Q5 | v T64 4Hs6 680 120 1 |[v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 & 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 wA9
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » T9843 BDXE-1 <100 Mean: 3HXS3 530 130 1 ||# 18 » 865 4SE4'420° Mean: 5DW-1 50 80 1
v QT54 4CW5 150 -330  5DXE-1 100 100 1 v AJ4 4SE5450 -290 2DW3 110 50 1
¢ K74 Dif: -250 NS:5 4SXS-1 100 6.0 1 ¢ 764 Dif: -30 NS:-4 3DW5 150 4.0 2
a3 IMP: -6 EW:-10 4CW5 150 50 1 & KT72 IMP: -1 EW:4 3DW4 130 4.0 1
a7 & Q52 3HXS-2  -300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 2420 3.0 1 ||leK I v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 80 1 |[|as A » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POEVEN ,43
N ~~13~ «»AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 285-2100 Mean: 5DXXS5 800 110 1 [|# 20 s JT8 4HE-1-100 Mean: 4HE-1 100 90 5
v AJ43 3DS5-150 280  5DXS5 550 7.0 1 v 9 4HE-1-100 -270 2DW4 130 4.0 1
o T7654 Dif: 250 NS:-4 5DS5 400 30 2 ¢ QT Dif: 0 NS:9 4HW4 620 -80 1
» KT4 IMP: 6 EW:9 5HE-3 300 10 1 » QJ98653 IMP: 0 EW:-9 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 + v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 ¢ KJ72
& AQJ95 & 732 25S-2 400 9.0 1 ||aAT a 74
POV N 4 JT432 ® OV PN 4 AL
N ~5~~1 96 N 1~~~~ vKJi
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a75 2DW290 Mean: 2DXW-2 300 7.0 1 |[|# 22 » Kb 3NE-1-100° Mean: 3NE-1 100 90 5
v K53 2DW-1-50 20 3DW-2 100 20 2 v QT76 3NE-1-100 -310 3NE3 600 -7.0 5
¢ QT52 Dif: 140 NS:1 2DW-2 100 20 2 ¢ T9 Dif: 0 NS:9 3NE4 630 -80 2
» A863 IMP: 4 EW:3 2DW-1 50 10 2 & Q7432 IMP: 0 EW:-9
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 90 3.0 4 [|eJ93 —_— v AK8
¢ A98643 ¢ J7 ¢ AQ432 ¢ KJ87
» K2 & QJ74 a5 » A86
PEVAEN ,QJ982 ®eVeN L AS73
N 1~111 »AQ62 N 1~~~~ 542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW5 650 Mean: 4SW-1 100 120 1 |[|# 24 o QJ953 4SXN-1 100 Mean: 4Ss4 420 9.0 1
v AJ973 4SW5 650 -510 3HS3 140 120 1 v 42 4SS-150 30  5HW-2 100 20 1
* K52 Dif: 0 NS:-4 4sw4 620 3.0 3 *J Dif: 50 NS:-2 5HE-2 100 20 1
» AT3 IMP: 0 EW:4 4SE4 620 -3.0 1 & AQT52 IMP: 2 EW:4 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 48S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ »QT86 N ~1~3~ »T9
S ~11~~ ¢QT76 S ~1~3~ ¢K98752
E 2~~4~ Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 6CS7-940 Mean: 6SS7 1010 30 1 |[|# 26 » Ki2 PDE2 90 Mean: 4HW-3 30 6.0 1
v AQ 6NN7 -1020 900  6SN7 1010 3.0 4 v 984 2DE290 60 3HW-2 200 4.0 2
. Dif: 80 NS:3 6NN7 1020 30 1 ¢ 8 Dif: 0 NS:-4 3HW-1 100 1.0 1
a J732 IMP: 2 EW:-1 6CS7 9240 10 2 & AQT984 IMP: 0 EW:4 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ o762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SN2 -110 Mean: 2SS2 110 1.0 9 ||# 28 & AQJ4 3NN4 -630 Mean: 3NS4 630 20 1
v K2 2SS2-110 90  2SN2 110 1.0 2 v5 5DN5 -600 570  3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: -30 NS:1 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: -1 EW:-2 3DN6 170 9.0 1
& K9 & AQ7 & 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 & AQ976 & JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ »Q654 N ~5123 vJ9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 aKQJT E1~~~~ &3
;




v 4 —_—
10 2019 < >RpEHEF ML = == RI0 10
A
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
1 1 NS: BB SFBCR(EC) -1 1 NS: Bt M&ER (BRO) -1 VP:[ 13.72 : 6.28 | Total VP: 98.18 Rank:
EW: =308 ZHEGHO) 19 EW: 3{E3 BREIE (FAC) 1 IMP:| 37 24 8
—_ —
# 15 & K965 6HS7 -1460 Mean: 7HS7 2210 13.0 1 |[# 16 » KQJ9 3NN-1 50 Mean: 2NN2 120 40 1
v A97 4HS6 -680 1390 6NS7 1470 20 1 v J86 3NS-150 -20 2CN4 130 40 1
« ABB5 Dif: -780 NS:-12 6HS7 1460 20 6 ¢ Q76 Dif: 0 NS:-1  3NS-1 50 1.0 1
» J8 IMP: -13 EW:-2 6HS6 1430 10 2 » AQ4 IMP: 0 EW:1 3NN-1 50 1.0 9
a JT3 » Q8742 4HS7 710 120 1 ||a 64 » T852
v Q5 | v T64 4Hs6 680 120 1 |[v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 » 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 wA9
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » 19843 5CXE6 650 Mean: 3HXS3 530 130 1 ||# 18 2865 3DW5150 Mean: 5DW-1 50 80 1
v QT54 4SXS-1100 -330  5DXE-1 100 100 1 v AJ4 4SE5450 -290 2DW3 110 50 1
¢ K74 Dif: 550 NS:6 4SXS-1 100 6.0 1 ¢ 764 Dif: -300 NS:-4 3DW5 150 4.0 2
a3 IMP: 11 EW:8 4CW5 150 50 1 & KT72 IMP: -7 EW:-4 3DW4 130 4.0 1
a7 & Q52 3HXS-2  -300 1.0 1 ||a KJ7 » AQT92 4SE5 450 40 5
v K962 v 5CW6 420 3.0 1 ||e K7 | v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 8.0 1 ||s A9 » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POEVEN ,43
N ~~13~ «»AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 3SW-3-300 Mean: 5DXXS5 800 11.0 1 |[|# 20 s JT8 4HE4 620 Mean: 4HE-1 100 90 5
v AJ43 3DS5-150 280  5DXS5 550 7.0 1 v 9 4HE4 620 -270 2DW4 130 4.0 1
o T7654 Dif: -150 NS:-4 5DS5 400 30 2 ¢ QT Dif: 0 NS:-8 4HW4 620 -80 1
» KT4 IMP: -4 EW:-1 5HE-3 300 10 1 » QJ98653 IMP: 0 EW:8 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 + v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 ¢ KJ72
& AQJ95 & 732 25S-2 400 9.0 1 ||aAT a 74
POV N 4 JT432 ® OV PN 4 AL
N ~5~~1 96 N 1~~~~ vKJi
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a75 2DW290 Mean: 2DXW-2 300 7.0 1 |[|# 22 » Kb 3NE3 600 Mean: 3NE-1 100 90 5
v K53 2DXW-2 -300 20 3DW-2 100 20 2 v QT76 3NE-1-100 -310 3NE3 600 -7.0 5
¢ QT52 Dif: 390 NS:7 2DW-2 100 20 2 ¢ T9 Dif: 700 NS:9 3NE4 630 -80 2
» A863 IMP:9 EW:3 2DW-1 50 1.0 2 & Q7432 IMP: 12 EW:7
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 90 3.0 4 ||eJ93 —_— v AK8
¢ A98643 ¢ J7 ¢ AQ432 ¢ KJ87
» K2 & QJ74 a5 » A86
PEVAEN ,QJ982 ®eVeN L AS73
N 1~111 »AQ62 N 1~~~~ 542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW4 620 Mean: 4SW-1 100 120 1 ||# 24 » QJ953 4SS-150 Mean: 4SS4 420 9.0 1
v AJ973 4SE4 620 -510 3HS3 140 120 1 v 42 5HE-2-100 30  5HW-2 100 20 1
* K52 Dif: 0 NS:-3 4sw4 620 3.0 3 *J Dif: 150 NS:2 5HE-2 100 20 1
» AT3 IMP: 0 EW:3 4SE4 620 -3.0 1 & AQT52 IMP: 4 EW:2 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 48S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ »QT86 N ~1~3~ »T9
S ~11~~ ¢QT76 S ~1~3~ ¢K98752
E 2~~4~ Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 ‘o AKQ 9872 6SN7 -1010° Mean: 6SS7 1010 30 1 |[|# 26 » Ki2 DE-1-100° Mean: 4HW-3 30 6.0 1
v AQ 6SS7 -1010 900  6SN7 1010 3.0 4 v 984 2HE-1 -100 60 3HW-2 200 4.0 2
. Dif: 0 NS:3 6NN7 1020 30 1 ¢ 8 Dif: 0 NS:1  3HW-1 100 1.0 1
a J732 IMP: 0 EW:-3 6CS7 9240 10 2 & AQT984 IMP: 0 EW:-1  2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ o762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 -110 Mean: 2SS2 110 1.0 9 [[|# 28 s AQJ4 5DN5 -600 Mean: 3NS4 630 20 1
v K2 2SN2-110 90  2SN2 110 1.0 2 v5 3NS4-630 570  3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: 30 NS:2 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: 1 EW:-1 3DN6 170 9.0 1
& K9 & AQ7 & 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 & AQ976 & JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ »Q654 N ~5123 vJ9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 aKQJT E1~~~~ &3
;




v 4 —_—
10 2019 < >RpEHEF ML = == RI0 10
KA
#1: 10 To Win(129.05) #2: 5 £ £2(118.56) #3: 9 Formosa(115.37)
1 2 NS: it B SR EAC) 7 2 NS: FENER BEIFSZ(BEO) 20 VP:| 7.29 12.71| Total VP: 102.12 Rank:
EW: & {& D0 O0) -20 EW: #3218 #H-/E (FAC) -7 IMP:| 41 50 7
—_ —
# 15 & K965 6HS7 -1460 Mean: T7HS7 2210 130 1 |[|# 16 » KQJ9 2CN4 -130 Mean: 2NN2 120 40 1
v A97 6HS7 -1460 1390 6NS7 1470 20 1 v J86 3NN-150 -20 2CN4 130 40 1
¢ AB65 Dif: 0 NS:2 6HS7 1460 20 6 + Q76 Dif: -180 NS:-1  3NS-1 50 1.0 1
» J8 IMP: 0 EW:-2 6HS6 1430 10 2 » AQ4 IMP: -5 EW:-4 3NN-1 50 1.0 9
4 JT3 4 Q8742 4HS7 710 120 1 ||a 64 & T852
v Q5 | v T64 4HS6 680 120 1 ||v T7542 — v KQ
¢ QJ4 ¢ T732 ¢ 953 ¢ AKT42
& 76543 & 2 » 852 » K3
POVEN LA ®OVEN o A73
N 757 37 »HKJ832 N 3~132 v A93
S 75737 K9 S 3~132 ¢J8
E ~~~~~ » AKQTO  ||E ~~~~~ & JT976
# 17 » 19843 5CE6 420 Mean: 3HXS3 530 130 1 [|# 18 a 865 4SE5 450 Mean: 5DW-1 50 80 1
v QT54 3HXS3 -530 -330 5DXE-1 100 100 1 v AJ4 5DW-1-50 -290 2DW3 110 50 1
¢ K74 Dif: 950 NS:13 4SXS-1 100 6.0 1 ¢ 764 Dif: 500 NS:8 3DW5 150 4.0 2
a3 IMP: 14 EW:3 4CW5 150 50 1 & KT72 IMP: 11 EW:4 3DW4 130 4.0 1
a7 & Q52 3HXS-2 300 1.0 1 ||a KJ7 » AQT92 4SE5 450 -40 5
v K962 v 5CW6 2420 3.0 1 ||leK I v T986 4SE4 420 40 2
¢ 63 + AQJ985 5CE6 -420 3.0 3 ||e AKT532 *8
& T98765 & AKQ4 5CXE6 650 80 1 |[|as A » 853
TEV PN LAKIG 5HXS-4  -800 -10.0 1 POVEN L, 43
N ~~13~ o AJ873 6CW6 920 110 1[N 1~~~ ~ » Q532
S ~~12~ ¢T2 S ~~~~ ¢QJ
E 64~~2 aJ2 E ~3152 a&QJ64
64 ~~1 ~3152
# 19 a A 3DS5-150 Mean: 5DXXS5 800 11.0 1 ||# 20 s JT8 2DW4 130 Mean: 4HE-1 100 90 5
v AJ43 5DS5-400 280  5DXS5 550 7.0 1 v 9 4HE4 620 -270 2DW4 130 4.0 1
o T7654 Dif: 250 NS:3 5DS5 400 30 2 + QT Dif: -490 NS:-8 4HWA4 620 -80 1
» KT4 IMP: 6 EW:4 5HE-3 300 10 1 » QJ98653 IMP: -10 EW:-4 4HE4 620 -80 5
# K8765 s Q9 3SW-3 300 1.0 1 [|as KQ63 a7
v Q7 v KT9852 4DS5 150 40 2 ||e T76 _I_ v AQ8532
*9 * A8 3DS5 150 -40 3 ||e A863 * KJ72
» AQJ95 & 732 28S-2 <100 9.0 1 & AT a» 74
POV PN 4 JT432 POV PN 4 Ad542
N ~5~~1 w6 N 1~~~~ »wKJM
S ~5~~1 ¢KQJ32 S 1~~~~ 4954
E 2~31~ &86 E ~3312 &K2
2~31~ ~3312
# 21 a75 2HS4100 Mean: 2DXxw-2 300 7.0 1 |[|# 22 4 K6 3NE-1-100 Mean: 3NE-1 100 90 5
v K53 2DW290 20 3DW-2 100 20 2 v QT76 3NE3 600 -310 3NE3 600 -7.0 5
¢ QT52 Dif: 10 NS:-3 2DW-2 100 20 2 ¢ T9 Dif: -700 NS:-7 3NE4 630 -80 2
» A863 IMP: 0 EW:3 2DW-1 50 1.0 2 & Q7432 IMP: -12 EW:-9
a4 & AKT63 2HS-1 <100 -3.0 1 & QJT9 & 542
v T974 v J8 2DW2 -90 3.0 4 ||eJo3 — v AK8
¢ A98643 ¢ J7 ¢ AQ432 * KJ87
» K2 & QJ74 a5 » A86
®eVeN Lo QJI82 ®eVeN L AS73
N 1~111 »AQ62 N 1~~~~ 542
S 1~111 ¢K S 1~~~~ 465
E ~1~~~ &T9 E ~4223 aKIT9
~1~~~ ~4223
# 23 a3 4SW-1-100 Mean: 4SW-1 100 120 1 |[|# 24 o QJ953 4SS-150 Mean: 4SS4 420 9.0 1
v AJ973 4SW4 620 -510 3HS3 140 120 1 v 42 4SS4-420 30  5HW-2 100 20 1
* K52 Dif: -720 NsS:-3 4Sw4 620 3.0 3 *J Dif: 470 NS:9 5HE-2 100 20 1
» AT3 IMP: -12 EW:-12 4SE4 620 -3.0 1 & AQT52 IMP: 10 EW:2 5HW-1 50 1.0 3
» KJT42 & A965 4SW5 650 40 6 ||a A2 » 64 45S-1 50 2.0 4
v K4 + v 52 v AQJ763 v K85 4SXS-1 100 -40 1
*8 ¢ AJ943 + A63 ¢ QT4 4SXN-1 100 -40 1
& J8764 S & K9 & 86 & J9743
®eVEN o Q8 ®eVEN o KIS7
N ~11~~ +QT86 N ~1~3~9T9
S ~11~~ ¢QT76 S ~1~3~ ¢ K98752
E 2~~4~ 4Q52 E 1~3~3 &K
3~~4-~ 1~3~3
# 25 “a AKQ9872 6CS7 940 Mean: 6SS7 1010 30 1 |[# 26 » K2 FHW-1-100° Mean: 4HW-3 300 60 1
v AQ 4SN7 -510 900  6SN7 1010 3.0 4 v 984 3HW-1-100 60 3HW-2 200 4.0 2
. Dif: -430 NS:-9 6NN7 1020 30 1 ¢ 8 Dif: 0 NS:1  3HW-1 100 1.0 1
a J732 IMP: -10 EW:-1 6CS7 9240 10 2 & AQT984 IMP: 0 EW:-1 2HW-1 100 1.0 2
a T54 s J3 6CN7 940 1.0 2 [|a AQ83 a 765 2HE-1 100 1.0 1
v K8632 v T974 4SN7 510 9.0 2 ||e AQT53 + v KJ 2DE-1 100 1.0 1
¢ Q842 — + AJ97 ¢ Q5 ¢ AT974 3Cs1 100 -40 1
aT & 864 a 52 & 763 2DE2 90 -40 2
PEVEN 4,6 POEVPN , JNM 2HE2 110 -50 1
N 72176 »J5 N 1~~~~ 9762
S 72176 ¢KT653 S ~ ~ ~ ~ ¢ KJB32
E ~~~~~ » AKQ95 E ~1211 aKJ
~~~~~ ~1211
# 27 & JT8543 2SS2 -110 Mean: 2SS2 110 1.0 9 ||# 28 & AQJ4 3NN4 -630 Mean: 3NS4 630 20 1
v K2 2SS2-110 90  2SN2 110 1.0 2 v5 5DN5 -600 570  3NN4 630 2.0 4
¢ 52 Dif: 0 NS:1  2SN-1 50 -40 1 + KQT85 Dif: -30 NS:1 5DN5 600 1.0 6
» 875 IMP: 0 EW:-1 » K82 IMP: -1 EW:-2 3DN6 170 9.0 1
& K9 & AQ7 4 865 a T732
v AT87 v J93 v K42 I v AQT6
¢ JT9 ¢ Q8743 73 *9
& A962 & 43 » AQ976 & JT54
PIVEN o062 ®eVEN o KO
N 1~~2~ Q654 N ~5123 »J9873
S 1~~2~ ¢AK6 S ~5123 ¢AJ642
E ~32~1 &KQJT E1~~~~ &3
~32~1 1 ~~~~




